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. Answer any two. 5X2=10

a) Why is Brazil a big producer of coffee?

b) Why is the cotton mill industry of Britain concentrated at Lancashire?
¢) Why is Congo basin sparsely populated?

d) Explain why Asia is called a land of extremes?

Give a geographical account either of Myanmar or Thailand.
Or
“Indo Gangetic plains are densely populated.” Give reasons.

Discuss the factors that have led to the industrial greatness of Europe.

Or
Which factors have helped Britain to become a great industrial and commercial
country?

Divide South America into natural regions and describe them.

Or
Divide the USA into natural regions and explain why the Atlantic coast is better
developed than other parts of the country.

Show how far geographical factors have influenced in the distribution of
population in Australia.

Or
Briefly describe the mineral resources and the pastoral industry of Australia.

* k k%

10

10

10

10

10

10

10

10



